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General Instructions :
Read the following instructions carefully and strictly follow them :
(i) This question paper contains 34 questions. All questions are compulsory.
(it)  This question paper contains two Sections :
Section A — Macro Economics
Section B - Indian Economic Development

(iti) This paper contains 20 Multiple Choice Questions Type questions of 1 mark
each.

(iv) This paper contains 4 Short Answer Questions Type-I questions of 3 marks
each to be answered in 60 to 80 words.

(v) This paper contains 6 Short Answer Questions Type-II questions of 4 marks

each to be answered in 80 to 100 words.

(vi)  This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

(vii) Attempt all parts of a question together.

SECTION A
Macro Economics

1. Read the following statements carefully :

Statement 1: Borrowings by a nation from the World Bank to finance
Balance of Payment (BoP) deficit will be recorded in the

capital account.

Statement 2 : Autonomous transactions are independent of the

condition of Balance of Payment (BoP) account.

In light of the given statements, choose the correct alternative from the
following : 1

(a) Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.
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The difference between National Income at market price and
National Income at factor cost is .
(Choose the correct alternative to fill up the blank) 1

(a) net indirect taxes
(b)  net factor income from abroad
(c) consumption of fixed capital
(d)  market price

OR

Identify which of the following represents only the real flow : 1

Goods and Services

Firms Household

(a)

Factor payments

Goods and Services

(b) Firms Household

Factor services

Factor payments

Firms Household

(c)

Consumption Expenditure

Goods and Services

) Firms Household

Consumption Expenditure
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3. Read the following news report carefully :
“The central bank has imposed fine on Hisar Urban Cooperative Bank
Ltd. and Andaman and Nicobar State Cooperative Bank Ltd. for violation

of banking norms.”

According to the given report, identify the function of the central bank. 1
(a)  Issue of currency

(b)  Banker to the public

(c) Banker to the Government

(d) Banker’s Bank

4, The rate at which commercial banks borrow from the Reserve Bank of

India to meet their long term requirements is known as

(Choose the correct alternative to fill up the blank) 1

(a)  Margin requirement
(b)  Bank rate
(c) Repo rate

(d)  Reverse repo rate

5. Read the following statements carefully :

Statement 1: Primary deposits are the cash deposits by general public
with commercial banks.

Statement 2 : Secondary deposits are those deposits which arise on
account of credit provided by the commercial banks to the
people.

In light of the given statements, choose the correct alternative from the
following : 1

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.
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6. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below : 1

Assertion (A) : Before reaching the Break-Even level of income, the value
of Average Propensity to Consume (APC) is greater than
one.

Reason (R): The Average Propensity to Consume (APC) is the ratio of
the total consumption and total income.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(¢) Assertion (A) is true and Reason (R) is false.
(d) Assertion (A) is false and Reason (R) is true.

7. (A)  Suppose that, the Balance of Trade of a nation exhibits a deficit of
T 50,000 crore. The import of visible items are five times of
the exports of visible items. The value of exports of visible items
would be ¥ crore.

(Choose the correct alternative to fill up the blank) 1

(a) 20,000
(b) 10,000
(¢) 12,500
(d) 20,300
OR
(B)  Gifts and remittances sent abroad are recorded on the side
of the account in Balance of Payment.

(Choose the correct alternative to fill up the blanks) 1
(a) credit, capital
(b)  debit, capital
(c) credit, current

(d)  debit, current
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8. (A)  If the value of investment multiplier = 4 and Dissavings = (-) 60,
identify the correct Saving function from the following : 1
(a) S=(-60+025Y
(b) S=(=60+075Y
() S=(=60+020Y
(d S=(-)60+060Y
OR
(B)  For the given Consumption function, C = 205 + 0-9 Y, the value of
investment multiplier would be .
(Choose the correct alternative to fill up the blank) 1
(a) 0-09
(b)  10-0
(c) 09
d 90
9. A situation in which an able bodied person is not willing to work at the
existing wage rate, is referred to as situation.
(Choose the correct alternative to fill up the blank) 1
(a)  Full employment

(b)
(c)
(d)

Involuntary unemployment
Voluntary unemployment

Disguised unemployment

10. Identify which of the following equations is true ?

(a)
(b)
(c)
(d)

58/1/3

(Choose the correct alternative) 1
MPC + MPS =0
MPC + MPS =1
MPC + MPS > 1
MPC + MPS < 1
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11. “There exists a positive relation between foreign exchange rate and

supply of foreign exchange.” Do you agree with the given statement ?

Justify your answer with valid arguments. 3
12. (a) Distinguish between ‘Value Addition’ and ‘Final Value of Output’. 3
OR
(b)  Find the Net Value Added at Factor Cost (NVAp) using the given
data : 3
1%0. Particulars (ir?r%r'l(:;?:e)
1) Sale of rice in the market 48
(ii) Purchase of tractor and thresher 30
(iii) | Procurement of rice by the government 10
(iv) Self-consumption of rice during the year 5
(v) Expenditure on running and maintenance 10
of tractor and thresher
(vi) Fertiliser subsidies received from the 2
government
13. (a) Explain the ‘Government’s Bank’ function of the central bank. 4
OR

(b)  Using a hypothetical numerical example, explain the effect of rise

in Reserve Ratio on credit creation by the commercial banks. 4

14. Describe the adjustment mechanism, if ex-ante savings are less than
ex-ante investments. 4

15. Read the following news published on September 26, 2022 :

“The central bank has increased the benchmark lending rate by 140 basis
points.”

Identify the likely cause and consequences behind this action taken by
the Reserve Bank of India. 4
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16. (a) Should purchase of wheat in the wholesale market be treated as

the purchase of intermediate goods ? 3

(b)  Increase in national income always implies increase in domestic

income. Elucidate. 3
17. (a) (1) From the information given in the diagram, categorize the
items into revenue receipts and capital receipts, stating

valid reasons. 4

WHERE INDIA GETS ITS MONEY FROM?
For every ¥ 1 that the Govt. earns

Corporation tax _ ~—  Recovery of loan
21 paise 1 3 paise

~ Non-tax revenue

Borrowings 9 paise

and other liabilities

20 paise
GST and

., other taxes

19 paise

Customs

4 paise Income tax
16 paise

Excise duties : 8 paise
(i1))  Distinguish between Revenue deficit and Fiscal deficit. 2

OR

58/1/3 18> = P.T.O.
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(b) @) From the following data, calculate the primary deficit. 3

S. Particulars Amount

No. (in ¥ crore)

(1) Revenue deficit 40

(i1) Non-debt creating capital receipts 190

(iii) Tax revenue 125

(iv) Capital expenditure 220

(v) Interest payments 20

(ii))  Elaborate ‘Economic stability’ function of the Government
Budget. 3

SECTION B

Indian Economic Development

18. Read the following statements carefully :

Statement 1: Commercialization of agriculture under the British rule

was responsible for frequent famines between 1875 and
1900.

Statement 2 : During British rule, India began to export food grains.

In light of the given statements, choose the correct alternative from the

following : 1
(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

58/1/3 <lar> = P.T.O.
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Mini-hydel plants are good for the environment because : 1
(1) they generate electricity only for local areas.
(i1))  they do not change the land use pattern.
(iii)  they rely on the perennial streams.
(Choose the correct alternative)
Alternatives :
(a) (1), (i1) and (iii)
(b) (1) and (iii)
(c) (i) only
(d (@) and (ii)

‘Skill India’ programme launched by the Government is not an attempt to
increase in India.

(Choose the correct alternative to fill up the blank) 1
(a) human capital formation
(b)  efficient utilisation of inputs
(c) increase in GDP growth

(d) inadequate spread of vocational education

(A) Read the following statements carefully :

Statement 1: The purchase of food grains made by the
Government on the Minimum Support Price (MSP)
is maintained as buffer stock.

Statement 2 : Minimum Support Price safeguards the farmers
against any sharp fall in farm product prices.

In light of the given statements, choose the correct alternative
from the following : 1

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

OR
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(B)  Identify the incorrect statement from the following : 1
(a) Import substitution was the strategy used to save foreign
exchange.

(b)  License policy ensured regional equality.

(¢) Russian economic model was the base for the Indian
economic system.

(d) Small Scale Industries are one of the essential tools for
employment generation.

22. (A) The Great Leap Forward (GLF) campaign in China focused on
(Choose the correct alternative to fill up the blank) 1

(a)  Widespread industrialisation
(b)  New agricultural strategy
(c) Privatisation

(d) Economic reforms
OR

(B) India is not a member of which of the following regional / global
economic groups ? 1

(a)  European Union
(b)  BRICS

() G20

(d)  SAARC

23. (A) Workers who are on the permanent pay-roll of their employer are
called workers.
(Choose the correct alternative to fill up the blank) 1
(a)  self-employed
(b)  casual
(c) regular

(d)  hired
OR
(B)  Jobless growth leads to unemployment because
(Choose the correct alternative to fill up the blank) 1

(a)  Labour refuses to migrate

(b)  Labour is very expensive

(c) Growth rate is low

(d)  Growth is due to technological development

58/1/3 a1 > = P.T.O.
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T e & foe gt mm or |7

(a)  hEYA SUITAl

(b) U< WU BiEE

(¢) ot grR&H HAifa

(d) ¥8F HAERI ATEH{dh ShIld

it oMt sl SHYE® ey :

FYT71 : WA I Wfchea™ gHil B, a1 &F T & T yg@ &id & §9 °
I 7 |

FYT2 ; R & YS! < H, =T T a7 Jeamm < g4t 7 |

feu U oAt & It 1, f=feifga # 8 @& fasew &1 w=H i 1

(a) YT 1TT 8 3 I 2 376A 7 |
(b) HAT 1IFT 2 I FAT2FT B |
() AT 1IN 2T TF 3 |

(d) HIYT 13FW 2 AT WA 7 |

et wp fomiy wo@ & s fafay TR hl wEAr & 3T
gl STl 7 | (Teh T WA & fore g&t fopew 1 =am dhifo) 1
(a) HEd & fafaefison
(b) Y Icured o1 fafaefien
(c) &ehi H Tafaefieto
(@) TR @ fafaefem
frafefaa oMt w1 eaHgEes afeu
FYT 1 : URA 7 U T YT AT H 9o 1951 § Y off |
HYT2 : WA, UhEaH g =4 9 (e oM 1 19+ gea fasm@ wHifa
& dI W IR o |
feu Tu At & ST H, FEfdiad § 9 9 foeheq o1 wEe il 1
(a) HIT 1T 8 3TN HAT 2 3ATH 8 |
(b) HIT 1T 8 M FAT 2T B |
(¢) YT 13 2gHI acF 2 |
(d) YT 1A 2T IEA B |
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Identify the correct alternative with reference to the following
statement : 1
“Between 1966 — 76, Mao introduced this movement under which
professionals and students were asked to work and learn from real life
situations prevailing in the countryside of China.”

(a) Commune System

(b)  Great Leap Forward

(c) Open Door Policy

(d)  Great Proletarian Cultural Revolution

Read the following statements carefully :

Statement 1 : In both India and Pakistan, the service sector has been
emerging as a major source of development.

Statement 2 : Amongst the neighbours of India, China has the highest
life expectancy rate.

In light of the given statements, choose the correct alternative from the
following : 1
(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

Production of diverse varieties of crops rather than one specialized crop is
called . (Choose the correct alternative to fill up the blank) 1
(a)  diversification of crops
(b)  diversification of agricultural production
(c) diversification in sectors
(d)  diversification of employment
Read the following statements carefully :
Statement 1: India announced its First Five Year Plan in 1951.
Statement 2 : India, Pakistan and China adopted economic planning as
the core development strategy.
In light of the given statements, choose the correct alternative from the
following : 1
(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.
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28. fou v fua st samE, adae gt Hfa o SYR W I 3
A
'_,“e"w

3 g
> - N N | - =
23 & : = s
e Rl P % e e
o g ‘ y
; 1 t ’ . .

.

Te: Al v e g whgnlat & frg v wea 28 & T w8
foreht ueh aau wafarefie g 6 smen i |

29. (%) 9Ra # 7o fow@ i ufhar o amfior dfeem womelt 1 yfiew
STCATHTCHh HeATeh T, | 3
AYAT

(@) “Ti. gu, T Ta fdafchcae, offds €9 & fUss st d 19
fafercae™ (clinic) I@M & | d TULRRd 3T A IAd W @ I |
SAMTY, I8 W& S T HaAT ThaT qAT 39 YIS H €1 TR bl =T
e 1
7. GUAT o g fohT 7T =99 o 38 bR i TgATHT QAT SATEAT hifg,

S a5t fomfor wfsean & yeaer w9 @ Anme foon 2 3

30. (%) N=nfies HAifd TeaE, 1956 % Add AEEH TS & D & dehbl ol T&T
EREEIE 3
(@) wgueia =R i R T | 1

31. (%) ¥ Il Afd, 3co@ Td e difve 6 F=fafaa wom o 2

YT AL

“Brel H, YR AfeIaEAqT J hREEA & NIRRT hl T GdSoHh
o fr 2 17 4
srerat

(@) “9ard ® AT 60% FHAH TR § HRAG & | TSR SARea |
319 USHIR o B4 hl GUTET 3iferehad g |7
Tsh JAMEN o €Y H, U ARAT & [0 AT Icqresh U
w # & fau feu S 9t fpedl @ Ut &1 wfawr gema

|

58/1/3 =




@collegebqtch.com

28. Interpret the given picture, on account of current environmental
challenges :

Note :
29. (a)
(b)
30. (a)
(b)
31. (a)
(b)
58/1/3

The following question is for the Visually Impaired Candidates
only, in lieu of Q. No. 28 :
Explain any one current environmental challenge.

Critically evaluate the role of rural banking system in the process
of rural development in India.

OR

“Dr. Khurana, a dentist, ran his clinic in an economically
backward area. He was earning a comparatively low income. So, he
decided to move to a city and spent a huge amount for the same.”

Identify and explain the type of expenditure incurred by Dr.
Khurana, which directly contributed to the process of human
capital formation.

Explain briefly the rationale behind the ‘License Raj’ under the
Industrial Policy Resolution, 1956.

Define Multilateral trade.

State and elaborate whether the following statement is true or
false, with valid arguments :

“Indian economy has showed satisfactory progress towards
formalization of workforce in the recent past.”
OR

“In India, the self-employed constitute around 60% employees. The
possible incidence of under employment is the highest among the
self-employed.”

As an economist, suggest and elaborate any two measures that
may be taken to ensure more productive employment for the
self-employed.
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32. THA AMId GeI (GVA) T 9Hd 9 = o &aR ANTEH 6 a1 T | I8

QI & ? 4
2018 - 2019 T (%) IR TF G FET Tod (%) & &7 IR

FHT Tl ge9 4 TG HIITT BT AT/
& YR 7 | giieeaT|  9RT =i qTfeb T
Y 16 7 24 43 26 41
ITM 30 41 19 25 28 24
gaTd 54 52 57 32 46 35
FT 100 100 100 100 100 100
33. (%) (1) Trafug aqamf wdenfen 4 afgad w9 =i 8 2 3
(i) =g ISt T Aifae 36l # o= w98 Shifv | 3
(@) () 9ra ﬁaq‘%?sgﬁq fasr@ Ued & O wiue foRet T wHifa &
3ol 9 I hItT | 3

(i) T YA H GEH-RUT FHRISHH % HE i G&Y H @l i | 3
34. fmfafea ma =t emyds afen :
Hifd o % gER, wia # fefea di i gfaam & fau drenfich @y
3I9AeY 3 | 38 TicHTiad i o T Teh fameh <= d9R i 6l 3wl 3 |
Hifg s 3 et fod “Digital Banks : A Proposal for Licensing and
Regulatory Regime for India” o e & fou fefSea d wmgafim a ﬁ'ﬂ'l'q%
wm%%quaﬁ@qw%m% | Yd o HasiHe e
g e, TRM 9 ¥ THhd WAW $%d (UPD) 9 38 A 61
ThAATYEh FTHT fohall B |
YR b T, WA U TG Teh Gtk SehT] @Il ohl TTeld i ohl TR W 3 |
a0 8 ﬂ*ldl%,%%&?ﬂﬁﬁﬁ@mﬁgﬁmwwﬁaﬁwﬂqﬁ
o UTH dehiehl Tish 3Tty § |
ISI\rId('I Sifeh, dwlllobql ﬁ ERIEK :ﬂ?ﬁﬁm ﬁﬁﬁ I YTAH H I U
{—OIt{Ilc’Id YT fshAT S <hl AT <1 § | ISI\rldc'I dfpT ®e AT H
ol @ Sifgd ol ft &0 war g | Tehel g AU i TicaTted ok,
%%wéﬁknwﬁm%ﬁamﬁuﬁdﬁaﬁ% |
feu T ey qen T wWe % oMYR W fefafed ye % 3w e

(%) ura § Hifa smm 9 fora gxen ot gfceenfua frem 2 2 Hifa s/ &
YT A HIF B 2 2

feforea difehm o fopedl g1 g&a 1Yl 1 Seoi@ 9 a=t hifag | 4

(@) Tel
55
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32. Compare and contrast India and China’s sectoral contribution towards

Gross Value Added (GVA). What does it indicate ? 4
Sectoral Share of Employment and GVA (%) in 2018 — 19
Contribution to GVA Distribution of Workforce
Sector India China | Pakistan India China | Pakistan
Agriculture 16 7 24 43 26 41
Industry 30 41 19 25 28 24
Services 54 52 57 32 46 35
Total 100 100 100 100 100 100
33. (a) @) Why are less women found in regular salaried employment ? 3
(ii)  Distinguish between human capital and physical capital. 3
OR
(b) @) State and discuss any one strategy involved in attaining
sustainable development in India. 3
(i1)  Discuss briefly the importance of micro credit programme in
rural India. 3

34. Read the following text carefully :

According to NITI Aayog, India has a technological advantage to
facilitate digital banks. There is a need for creating a regulatory
framework for promoting this.

NITI Aayog, in its report titled “Digital Banks : A Proposal for Licensing
and Regulatory Regime for India”, offers a template and roadmap for a
digital bank licensing and regulatory regime for a country. India’s public
digital infrastructure, especially Unified Payments Interface (UPI) has
successfully faced this.

With Aadhar, India is at the cusp of operationalizing its own open
banking framework. This demonstrates that India has the technology
stock to fully facilitate digital banks.

Digital banking allows a user to set up automatic payments for regular
utility bills. Digital banking enables fund transfers to reduce the risk of
counterfeit currency. By promoting a cashless society, digital banking
restricts the circulation of black money.

On the basis of the given text and common understanding, answer the
following questions :

(a)  Which institution has been replaced by NITI Aayog in India ? Who
is the ex-officio Chairman of NITI Aayog ?

(b)  State and discuss any two main advantages of digital banking. 4
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